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1. Itis mandatory to fill one option for each question.

2. All questions carry equal marks.

3.  Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.,
When you are directed to open the Question Booklet, take out
the Answer Sheet and fill in the particulars carefully with Blue
Ball Point Pen only.

5. Please correctly fill your Roll Number in OMR Answer Sheet,

3 Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden. ¢

7.  1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each guestion has five options marked as 1, 2, 3, 4. 5. You
have to darken onmly one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9. If you are not attempting a question then vou have to darken

the circle *5°. If none of the five circles is darkened, one third

(1/3) part of the marks of question shall be deducted.

After solving question paper, candidate must ascertain

that he/she has darkened one of the circles (bubbles) for

each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

A candidate who has not darkened any of the five circles in

more than 10% questions shall be disqualified.

If there is any sort of ambiguity/mistake either of printing or

factual nature then out of Hindi and English Versions of the

question, the English Version will be treated as standard.

Mobile Phone or any other electronic gadget in the

examination hall is strictly prohibited. A candidate found

with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may
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also debar him/her permanently from all future examinations.
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Sie fopet Tie =i Torep foman SIan 2, i Tie i 1. When a ball is kicked, the
= o e A Rgm A | S eReon o e eoplied o
I T & < FHITI &1 3 e | the ball by the kicker’s foot and
T % BT, I8 A £ i inversely proportional to the mass
Tpg foe =1 weh IR 2 ? oNf the ball, is an example of
=T ! ewton’s
(;) Hﬁﬂﬂ?ﬁiﬁq O i .- (1)  .Law of Inertia
@ = ’ i**  (2) Law of Momentum
(8) 3a:frm = fFem ; (3) Law of Interaction
(4) 9uE 1w ' ?51; aaw of Effect .
(5) aﬁﬁﬁ'a I i uestion not attempte
i 2 : :
. i 2. Standing on tiptoe is an example of
q\—:ﬁ%aa@%‘gﬁmmaﬁ% 3 | which type of lever ?
SEE R 7 E (1) 1stclass lever
(1) 9" i IS ; (2) 2ndclass lever
@) feda =i ke ’ (3) 3rdclass lever
3) ?Fﬂ?? a7 e ! (4) Combination of 1%t & 31 class lever
@) o a leaas g ﬁ | (5)  Question not attempted
(5) STaRd T | 8. M?tch iist — I with List = IT and
; ! select the correct answer by using
T1-1 &1 g&i-11 g fem = o = fau ; the codes given below :
W@ﬁmﬁqﬁﬁmwﬁ : List-1 List — 11
g1 Tef-IT ! (Planning Year)  (Planning City)
e e R W)§ A. IVth Olympics, 1908 i. Amsterdam
YR : : i B.IXth Olympics, 1928 ii. Sydney
IVEE 3i'6|!e|3;: 1908 - THIEH . C. XXIst Olympics, 1976 1iii. London
IXdT, Qﬁ(‘*lﬁiﬁ, 1928 i, faeh i D.XXVIIth Olympics, iv. Montreal
. XXIaf afieifuss, 1976 diieed ~ | 2000 5
 XXVIIaT sfeifiss, 2000 iv. @ifogge | Codes: _
w: o | e
By @ i
) T i et i rmaeehe
(8) - 3t bithe, adw oulid i (Dvaorm i e
@ i i iv i % (56) Question not attempted
(5) IANd gH ' ; 4. Whenbt]?ﬁ cue ball hits another ball
: in a billiards game, the system’s
EE] ﬁﬁ'ﬂ@ @F’I b} ﬂﬁa Tenet E@ﬂ TRH | overall momentum, both before
T 2, i e 1 wwed d 99e 4 and after the impact, stays the
gl 3R 91 ¥ THF &l 8, i - i same because
1) ﬁ%‘ﬁaﬁﬁm@?ﬁ% | X | (1) z}ll:sticbans are completely
@) faem w I ARl S b T a (2) there ‘is no outside force
HATER | I acting on the system. -
(3) ﬂ@iﬁ g TH R 59 @ ; (3) a steady force is applied by
GRS : the cue stick.
@) iE %1 goHE T AT 2 | | (4) the inasses of the balls are.
equa
(5) ARG A i (5) Questlon not attempted
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(D) wEm

AR AT ST R A2 2 ?
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Which of the following statement is

not correct ?

(1) Sole of the foot rotates outward
through anteroposterior axis
in frontal plane is called as
eversion.

(2) Sole of the foot rotates inward
through anteroposterior axis
in frontal plane is called as
inversion.

(3) Rotation of palm at radioulnar
joint around a suproinferior
axis to turn away from the
body is called pronation.

(4) Frontal plane motion around
an anteroposterior axis at the
wrist is called deviation.

(5) Question not attempted

Match List — I with List — IT and
select the correct answer by using
the codes given below the lists

considering muscles and their
origins :
List -1 List - II
A. Adductor i. Tuberosity of
longus the ischium

B. Long head of ii. Crest of the

biceps femoris pubis
C. Rectus iii.Outer surface
abdominis of the ilium
D. Gluteus medius iv. Anterior part
of the pubis
Codes :
A B oG B

- e i Ih
) 1" v i B
By-av: .- eiE 58 b
(4) v i1Feuk; il
(5) Question not attempted
Grasping or compressing a muscle
or muscle group, applying pressure
and then releasing the pressure
slowly, gently and rhythmically is
a kind of massage :
(1) Stroking (2) Efflurage
(3) Petrissage (4) Kneading
(5) Question not attempted

o



8.

10.
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SN T
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10.

()

Which of the following are the

main goals of  therapeutic

modalities ?
(a)
(b)
(©)

Reduction of circulation
Reduction of oedema
Promotion of tissue healing
Reduction of fibrous tissue

Select the correct answer using the
codes given below :

Codes :

(1) (a), ®) & ()

2 ®),© & (@)

3 (@, &@

(4) (b) & (c) only

(5) Question not attempted

Which of the following factor has
the greatest influence on
maximizing projectile range in
Javelin ?

(1) Initial velocity and angle of
release

(2) Mass of the projectile

(3) Rotational inertia of thrower

(4) Height of the athlete relative
to the ground

(5) Question not attempted

What will be the effect on

Coefficient of Restitution, if speed

of the collision increases ?

(1) Coefficient of Restitution will
increase. :

(2) Coefficient of Restitution will
decrease.

(3) Coefficient of Restitution will
remain constant.

(4) Coefficient of Restitution will
reach towards perfect collision.

(5) Question not attempted
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11.

P12

' 13.

Which one of the following is
considered as Horizontal
component in Angle of Pull ? :
(1) Rotary component

(2) Non-rotary component

(3) Stabilizing component

(4) Dislocating component

(5) Question not attempted
Which of the following company is
associated ‘the main official
timekeeping in the 334 Olympics ?
(1) OMEGA (2) SEIKO

(3) ORIS (40 HUBLOT -
(5) Question not attempted

Match the List — I with List —II :

List -1 List - II
(Deformities) - (Symptoms)
A. Kyphosis i. Exaggerated
lateral
curvature
B. Lordosis ii. Loss of Foot
Arch
C. Scoliosis iii. Exaggeration
of normal

convexity of
thoracic region

D. Flat Foot iv. Increase in
normal
concavity of
lumbar region

Codes :

gL € B
(I am=w 1 3
Q-5 i h
(95 ey h e i1
@G- r"nm oW n
(5) Question not attempted

The Lachman’s test is designed to
detect the injury of which of the
following ?

(1) Medial collateral ligament

(2) -Anterior cruciate ligament

(3) Medial meniscus

(4) Posterior cruciate ligament

(5) Question not attempted
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15.

16.

17.

The point upon which a body’s
weight is equally balanced in all
directions is known as

1)
@)
(3)
4
(5)
Which one of the following pair is
not correctly matched ?

(1)  Strap muscle — Sartorius

muscle
(2) Multipennote — Deltoid muscle

Point of Application
Non-contact force
Centre of Gravity
Equilibrium

Question not attempted

(3) Sphincter — Trapezius
muscle

(4) Flat muscle — Rectus
abdominis
muscle

(56) Question not attempted
Match List — I with List — IT and
select the correct answer by using
the codes given below the lists :

List -1 List - II
(Types of (Function)
Bandage)

A. Gauze 1. Stops bleeding
Bandage

B. Compression  1i. Holding a
Bandage dressing in

place

C. Triangular 111. Venous ulcers

Bandage

D. Tube Bandage iv.Cravat
Bandage

Codes :

A B €k
(1)1 i Ty
2) -1 g v
)i STy

T TR (A
Question not attempted

@
®)
51



18.

19

20.

51

Hie o T AT SHLd T Hee ol JAR |

T o i i wEa e i ad g ?
a. Of-ZEEm
b. TG
C. ufgefma
d. Toifesa dfeemE
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18.

19.

20.

(2

Which muscles are involved in the
hip extension movement while
doing rowing exercise on machine ?
a. Semi-tendinous

b. Semi-membranous

c. Pectineus

d. Gluteus maximus

Select the correct answer using the
codes given below :

Codes:

1 ab&e

b,c&d

a,b&d

a,c&d

Question not attempted

3
@
()

Which of the following are the
agonist muscles during ankle

_dorsiflexion movement in leg lifter

exercise ?

a. Gastrocenemius

b. Tibialis anterior

c. Peroneus tertius

d. Extensor Digitorum longus
Select the correct answer using
codes given below :

Codes :

(1 abé&ec

(2 a,c&d

(3) b & conly

(4) b,c&d

(5) Question not attempted

A setter set the ball for the spiker.
The ball left the setter’s finger at
height of 2 mt. and has a vertical
velocity of 5 m/s upward. How high
the ball will go from the ground ?
(1) 2.59mt.

(2) 3.50mt.

3) 327 mi

(4) 3.90 mt.

(5) Question not attempted
o
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21.

22.

23.

24.

National Fitness Corps was
recommended by which committee ?

(1)
(2)
(3)
(4)
®)
Which among the following should
not be the basic feature of a good
budget ?

(1) The budget should be flexible.
(2) The budget should be based

Tarachand Committee
Kunzuru Committee

Kaul Kapoor Committee
Adhoc Enquiry Committee
Question not attempted

on the reality of all
necessities.

(3) The budget should be prepared
well in advance before the

: financial year starts.

(4) All the expenses should be
done before preparing the
budget.

(5) Question not attempted

In which type of administration

system, administrator hands-off

and allows group members to make
the decisions ?

(1) Laissez Faire Administration
(2)
(3)
(4)
(5)

Autocratic Administration
Democratic Administration
Athlete Administration
Question not attempted

Which one of the following drag is
reduced by adopting = drafting
technique in long distance running
events ?

(1) Surface Drag

(2) Pressure Drag

(3) Wave Drag

(4) Viscous Drag

(6) Question not attempted
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27.
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(1. a, b.¢

£2). b, c,d

(3) .a,.ed

(4) a,b,c,d

(5) IR SR
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T iR =
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(1) .a,¢,d,e, b

(2) a,d,e b, c

(3) a,b,c,e,d

(4) 'a,e;b,c,d

(5) IgTING A

ﬂﬁm:ﬂﬁ%aﬁwmmﬁﬁaﬁ
&% o femart 18 < Sa 2
(55 2} 4
3 6 4 7

(5) HgaRd S

i 25.

26.

27.

G

Which of the following statements

are correct ?

a. The budget should grow out of
the needs of the program.

b. Principle of budgeting is to
plan for 30% for contingencies.

c. In Dbudgeting, involve all
people affected in planning
process.

d. In budgeting, ensure proper
approvals by higher
authorities.

Choose the correct option :

(1) abec

2) ~bic. d

a,c d

a,becd

Question not attempted

4)
(5)
Arrange the steps of budgeting
process in ascending order :

a. Gather the data.

b. Construct the budget.

c. Justify the figures and
present the budget.

d. Interpret & evaluate the
budget.

e. Analyze the past budget,
facilities.

Choose the correct option :
(1) ‘a,c,d, e, b

(2) “a d e bie

3 a,b,ce,d

(4) a,e, b,cd

(5) Question not attempted

How many byes will be given to
lower half in knock-out system if
teams are 21 ?

1) 5 2 4

3) 6 @ 7

(5) Question not attempted
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28

29.

30.

Which of the following obJectwes is
included in intramural
tournaments ?

(1) Encouraging mass participation
in an institute _

(2) Developing the feeling of
integration with other
institution

(3) Opportunity for performance
at highest level

(4) Inter-institution competition

(5) Question not attempted

Which of the following committee
18 responsible for holding the
opening and closing ceremony of
the tournament ?

(1) Finance committee

(2) Logistics committee

(3) Technical committee
(4) Hospitality committee
(5) Question not attempted

Match the following and select

correct option of functions of the

various committee :

List -1 List - I1
(Committee) (Work)
A. Technical 1. Preparing the
committee - MoU with
companies
B. Logistics 11. Confirmation
committee of officials
C. Finance 111. Management
committee of spectators
D. Marketing  iv. Accounting
committee
Codes :

A-B ¢..1

€)1 - "By i e
2 S SR T S SR
(3) -1 YO v
) v ool a
(5) Question not attempted
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31.

32.

33.

34.

35.
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32.

33.

34.

35.

tournaments that attempts to have
the best players or teams meet in
the final is known as

(1) Bye

(2) Seeding

(3) Elimination

(4) Consolation

(5) Question not attempted

Which of the following is not a

method used to determine the

winner of a Round Robin
tournaments ?

(1) Percentage method

(2) Canadian method

(3) British method

(4) Ratio method

(5) Question not attempted

The leadership role performed in an
organised group is also termed as
(1) Symbolic leadership

(2) Formal leadership

(3) Functional leadership

(4) Informal leadership

(5) Question not attempted

How many matches will be played
in league tournament system if
teams are 8 ?

€EY 24 . 2y 26

3 - 22 4 28

(5) Question not attempted
Which among the following does
not come under extramural
competition ?

(1) Practice matches

(2) Open competition

(3) Closed competition

(4) Inter-house competition

(5) Question not attempted
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36.

317.

38.

39.

Which one of the following is
recurrent inhibition in the spinal
cord ?

(1)
()
(3
(4

(5)

Golgi Tendon organ
Renshow cells

- Supraspinal inhibitory

Ruffini Endings
Question not attempted

Which of the following concept
refers to Hennemann size principle ?

(1)

@)

3

(4)

(®)

Load should increase in
progressive manner.

Recruitment of motor wunit
from smallest to largest

Recruitment of motor unit
from largest to smallest

Size of load increases as
adaptation occurs.

Question not attempted

What is the approximate amount
of ATP stored within the body ?

)
2
3
(4)
®)

85 g approximately

-95 g approximately

100 g approximately
105 g approximately
Question not attempted

Vital capacity depends on which of
the following ?

a.

b.
C.
d.
@)
3
®)

Strength of  intercostal
muscles

Size and strength of heart
Size of lung and chest cavity
Number of active alveoli
a,b&d 2) ac&d
b,c&d 4 ab&e
Question not attempted
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41.

42,

31
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41.

42,

anabolic steroid ?
a. Stanozolol

b. Oxandrolone
c. Parabolan

d. Ethylestrenol

‘Select the correct answer by using

codes below :

Codes:
1) a,b&ec 2 ac&d
3 b,c&d 4) abé&d

(5) Question not attempted

“Athlete’s internalized reasons for
participation are tied to internal
rewards and punishment” falls in
which of the following regulatory
style ?
(€Y
(2)
(3)
(€Y
(5)
Assertion (A) : Drive reduction
theory grew out of the concept
that all living being have
certain biological needs.
Reason (R) : When their need is
satisfied, the drive to satisfy
them increases.

Internal motivation
External regulation
Identified regulation
Introjected regulation
Question not attempted

"Codes :

(1) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

@)

3
(€Y
®)
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44.
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43. Assertion

44,

45.

(A) Multilateral
development  during the
athlete’s formative years lays
the groundwork for Ilater
periods of training when
specialization  becomes a
greater focus of the training
plan.

Reason (R) : As the athlete
matures, the degree of
specialization increases.

Codes:

(1) Both (A) and (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and ([R) are

individually true and (R) is not

the correct explanation of (A).

(A) is true but (R) 1s false.

(A) is false but (R) is true.

Question not attempted

(2)

(3)
@)
®)

Which of the following approach is

‘related to ‘Valance’ reward for

motivation in sports ?

(1) Pedagogical approach
(2) Social support strategy
(3) Cognitive approach

(4) Facilitation approach
(5) Question not attempted

Which of the following
multiaxial type joints ?
a. Condyloid

are

b. Arthrodial
c. Enarthrodial
d. Sellar

Select the correct answer using the
codes given below :

Codes:
(1) a,b&ec
2) a,c&d
3 b,c&d
4 a,b&d
(5) Question not attempted
51
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47.

48.

one of the following
component is not the result of
muscle damage ?

(1) Acidosis

(2) Swollen Mitochondria

(3) Distortion of Myofibrillar
(4) Sacrolemma disruption
(5) Question not attempted

Match List — I with List — II and
select the correct answer by using
the codes given below the lists :

List -1 List — 11
A. Hennemann 1. Combination
size principle of eccentric

and concentric
muscle action

B. Asynchronous 2. Size of the
‘motor unit
dictates its
activation

C. Stretch 3. Ability to

shortening exhibit

cycle maximum
strength and
power

D. Type II muscle 4. One unit

fibre deactivates
' while other
activates

Codes :

A B - C 1

(1) =1 2 & ol

2y - 2 £ F. -3

(3% 2 S 1 4

@ 4 3 & 1

(5> Question not attempted

A subject exercises for 5 minutes
on Harvard step test. His recovery
pulse count after exercise for 1 to
1% min. is 83, 2 to 2% min. is 67
and 3 to 3% min. is 50. Which of
the following is the physical
efficiency index of the subject ?

(L} %5 (2) 85
3 95 (4 105
(5) Question not attempted
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49.

50.

51.

Which one of the following aspects
of performance is not considered as
talent indicator ?
(1) Rate of
performance

(2) Performance stability

(3) Ability of tolerate load

(4) Motor development

(5)  Question not attempted

Which of the following statements

are correct ?

a. Operative plan is also called
meso-cycle plan.

b. Yearly plan is prepared on
the basis of training
conception.

c. Training conception forms the
basis of all types of training
plans.

d. Micro cycle plan forms the
basis of macro cycle plans.
Choose the correct option from the

codes given below :

(1) a,c&d

2y ab&d

B) ab&e -

(4 b,c&d

(5) Question not attempted

The ability to anticipate depends
primarily on which of the following ?

a. Movement structure

of

increase

b. Experience
c. Deception
d. Tactical pattern

Choose the correct option from the
codes given below :

(1) .a,b&e
2) a,c&d
3 ab&d
4 b,c&d
(5) Question not attempted

51
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53.

54.

objective of the Competitive Phase ?

a. Dissipating fatigue and
elevating readiness

b. Gaining competitive experience

c. Learn new technique and
tactic -

d. Maintaining sport-specific
fitness

Select the correct code :

Only a, b & c are correct.
Only a, ¢ & d are correct.
Only a, b & d are correct.
Only a & ¢ are correct.
(5) Question not attempted

Which of the following is not the

objective of preparatory phase ?

a. To familiarize athletes with
the basic strategic
manoeuvres mastered in the
following phase.

b. To teach athletes the theory
and methodology of training
specific to the sport.

c. To develop individualized and
sport-specific nutrition plan.

d. To -cultivate psychologlcal
traits only.

Select the correct code :

(1) Only a, b & c are correct.

(2) Only a, ¢ & d are correct.

(3) Only a, b & d are correct.

(4) Only a & c are correct.

(5) Question not attempted

Which of the following is not
correct about the characteristics of
Main Competitive Subphase ?

(1) Training volume 18
significantly reduced of the
level of the preparatory phase
for sports @ that require
technical mastery, speed &
strength.

Intensity of training
gradually increased.
Training intensity becomes
highest 1 week prior to the
main competition.

Training volume kept high for
endurance sports.

Question not attempted

18
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55.

56.

57.

58.

@

2K

The repeated short to long bouts of
exercise usually performed at or
the threshold

interspersed with periods of rest or

above lactate

low-intensity exercise is known as
(1)
(2)
3)
4)
®)

What is necessary for superior

physiological adaptations to occur ?

(1) Load must be increased
progressively.

Inadequate of

recovery.

A sudden, dramatic increase

in training load.

A decrease in training load

over time.

Question not attempted

Fartlek training
Interval training

High intensity training
Lactate training
Question not attempted

periods
3
4)
®)

Which of the following is the

characteristic of tapering in special

training period immediately

preceding the main competition ?

(1) Stimulus is reduced in a non-
linear manner.

(2) Stimulus is increased in a
linear manner.

(3) Stimulus is reduced

4

(5)

linear manner.
Stimulus is kept constant.
Question not attempted
Which of the following is defined as
the motor procedure for tackling a
motor task ?

m a

Movement execution
Coordination
Motor learning

@
3
@)
®)

Technique

Question not attempted
51
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59. Which

60.

61.

type of training is

associated with Maxex training ?

(1) Heavier resistance followed
by flexibility training

(2) Lower resistance followed by

speed training

Speed training followed by

heavier resistance

Heavier load followed by

explosive movements

Question not attempted

3
4

(5)
Who introduced the concept of
depth the
explosive strength ?

(€Y
2
3
4)
(5)

jump = to 1improve

John Endermann
Paolo Cavanga

V. Komi

Yuri Verhoshansky

Question not attempted

Assertion (A) : If athletes are
roughly at the same level of
development and stage of
training, less individualization
of the training plan is needed.

Reason (R) : An athlete who has
high chronological age in
conjunction with a low
training age may need more
multilateral and skill
acquisition training.

Both (A) and (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and (R) are

individually true and (R) is

not the correct explanation of

(A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

€y

2

3
4

®)
o
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63.

64.

In which age group Sports talent
can be judged fairly and accurately ?

@
2)
3)
4
(®)

7 — 10 years

18 — 21 years

13 — 14 years.

14 — 17 years

Question not attempted

Arrange the following phases of
reaction ability in correct sequence :

a. Time taken by sense organ to
generate nerve impulse.

b.  Time taken by nerve impulse to
reach concerned center in CNS.

c. Time taken by signal to reach
the sense organ.

d. Time taken by motor nerve

- impulse to reach muscle.

e. Time taken by CNS to
generate a motor impulse.

f.  Latenttime

Codes: :

(1) cab,edf

2) a,b,e,d,c f

3-b,Ee;d;ca

4 feda,bc

(5) Question not attempted

Which one of the following pair is
not correctly matched ?

1

2)
3
(4)
®)

Fartlek — HR% max
training varies
method

Continuous — at lactate
pace training threshold HR
Aerobic —  80% — 100%
interval

Anaerobic - <60%
interval

Question not attempted
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65.

66.

67.

51

IGHI VO, max FTEA ?

=€
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@

3)
@)
(5) Igaid S

12 fiFe VO, maxwﬁmﬁ%ﬂ@
3R 3400 metersaﬁ’rajrﬁam%ﬁ :

1)
)
3

60.55 ml/kg/min
64.72 ml/kg/min
66.82 ml/kg/min :
(4) 68.94 ml/kg/min

(5) Fuid e

e (A) : QE-SiRr =0 SEge |
ww faafedl &t FwEREs |
SRRt 1 S TeH AT | ;
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3
4
®)

(A) FEA B, %(R)w%a i

65. Assertion (A)

| 66.

i 67.

: The relationship
between technique and
movement efficiency is
important in all sports.

Reason (R) : If a runner became

technically skilled and can

optimize his stride rate and
ground contact time, he will
be very efficient.

Both (A) and (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and @®) are

individually true and (R) is

not the correct explanation of

(1)

2

(A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted

If an athlete completes a total

distance of 3400 meters in the 12

minutes Cooper VO, max test,

then what is his VO, max ?

(1) 60.55 ml/kg/min

(2) 64.72 mV/kg/min

(3) 66.82 ml/kg/min

(4) - 68.94 ml/kg/min

(5) Question not attempted

Assertion (A) : The pre-
competitive phase primarily
aims to expose athletes to
unofficial meets.

Reason (R) : These meets enable
the coach to objectively assess
the athlete’s readiness across
various training aspects.

Select the correct option :

(1) Both (A) and (R) are
individually true and (R) is
the correct explanation of (A).

(2) Both (A) and (R) are
individually true and (R) 1s
not the correct explanation of
(A).

(8) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted

= |
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68.

69.

-1
e

71.

72.
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The frequency at which an athlete
is exposed to a series of stimuli per
unit of time is called

(1) Volume of training

(2) Density of training

(3) Intensity of training

(4) Absolute intensity

(5) Question not attempted

The ability of an athlete to exert
maximum force regardless of own
body weight is known as

(1) Relative strength

(2) Absolute strength

(3) Power

(4) Maximum strength

(5) Question not attempted

What does FITT stand for in sports

training ?

(1) Frequency, Intensity, Time &
Type of Exercise

(2) Flexibility, Intensity,
and Type of Exercise

(3) Frequency, Intensity,

(4)

(5)

and Training
Flexibility,
and Training
Question not attempted
Which one of the following is
cardio-vascular endurance test ?
(1) Tuttle Pulse Ratio Test
(2) Margaria Power Test
(3) Phillip’s J.C.R. Test
(4) Scott Motor Ability Test
(5) Question not attempted

Time
Time

Intensity, Time

Build-up competitions are useful
for development of the following :

a. Performance capacity

b. Techniecal skill

c. Tactical ability

d. Conditioning level

Select the correct answer using
codes given below :

(1) a,b&conly

(2) Alla,b,c&d

(3) a &bonly

4. b &conly

(5) Question not attempted
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73. Match List — I with List — II and

74.

75.

select the correct answer by using
the codes given below the lists :

List -1 List —1II
(Periods) (Characteristics)
A. Preparatory 1. Consolidation of
phase - technique
B. Pre-competition ii. Biological
phase regeneration
C. Competitive  iii. Acquire general
phase physical
preparation
D. Transition iv. Linkage of
phase performance
factors
Codes:
AP C B
(D iy B
@)-dv: ik i
(3 3k Wod R
(4 3y i 1D
(5) Question not attempted

During recovery phase after
training, the recovery does not end
at pre-training but it over shoots
the pre-training level, which is
known as

(1) Overcompensation

(2) Supercompensation

(3) Undercompensation

(4) Load adaptation

(5) Question not attempted
Which of the following 1s not

correctly matched for phases of
supercompensation ?

(1) PhaseI : Duration of 1 to 12
hours

(2) Phase Il : Duration of 24 to
48 hours

(3) Phase III : Duration of 36 to
72 hours

(4) Phase IV : Duration of 3 to 7
days

(5) Question not attempted
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7

78.

Badminton, will facilitate the
learning of same skill in Squash
will come under which type of
transfer of training ?

1) Zero transfer

2) Negative transfer

3) Positive transfer

4) Feedback transfer

5) Question not attempted

M

A

atch List — I with List — I :

List-1 List - 11
Task-oriented 1. Inspires
leader people to

: follow
B. Behavioural 2. Maintaining
approach a good
interpersonal
relationship
C. Relationship- 3. Leaders are
oriented leader made, not
born
D. Transformational 4. Setting
leadership goals and
getting the
job done

Select the correct answer by using
the codes given below :
Codes :
Ao Bew@ B
{13 T T 52
2 oA 21 -2
By el sy ey
@) .8 152 5l (54
(5) Question not attempted
Match List — I and List — II and

select the correct answer by using
the codes given below the lists :

List -1 List - II
(Development) (Developmental
Objectives)
A. Neuro-muscular I. Face
coordination challenge
B. Intellectual-  II. Development
Development of strength
C. Emotional I11. General motor

responses ability ;
D. Organic Power IV.Solve proble
Codes :
ASER-F R
(- B IV = & B
CESIEE I3
(a3 308 A5 3 | BNRE] (S 1 |
(4)- TN T ]
(5) Question not attempted
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80.

81.

Match the following List — I with
List — 11 :

List -1 - List - 11
(Developmental (Characteristics)
Age) :
A. Anatomical i. Onset of
age puberty
B. Mental age 1. Mental
maturation
C. Chronological 1iii. Skeletal
age system
D. Physiological iv. Year, month
age and days
Select the correct code :
Codes :
A B €z
1y » 1 -1 IV
Y 3 In - de - 3
3 1w v )
(i B oy W

(5) Question not attempted

Which one of the following pa1rs is
not correctly matched ?

(1) Carbohydrates — Major source of

energy for the
human body
(2) Dietary fiber — Fat cells in
the body
(3) Trans fatty acid — Solidified fat
(4) Sterols — Derived fats
(5) Question not attempted
Which of the following

philosophical theory advocates that

reality depends on the mind for

existence and that truth 1is

‘universal and absolute ?

Idealism

Progressivism
Humanism

Naturalism

Question not attempted

(1)
2)
(3
)
(5)
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83.

84.

Match the following and select the
correct option from codes given

below :
List -1 List - IT
(Branch of (Focused on)
Philosophy)
A. Epistemology 1. Orderly
reasoning
B. Logic 1. Knowledge
and method
C. Metaphysics 1. Beauty and
art
D. Aesthetics iv. Nature of
reality
Codes:
A-B € D
B3 i miw
@2 1 - 9w 5
B i e s
@ -5y Wi

(5) Question not attempted

According to Bookwalter, which of
the following is not one of the three
main  objectives  of
education ?

(1) Health

(2) Ethical character
(3) Social efficiency
(4) Worthy use of leisure time
(5) Question not attempted

Assertion (A) : A warming-up
should include an exercise
session with low-intensity,
callisthenic type and stretching
exercises.

Reason (R) : Such a warm-up
period increases both heart
rate, breathing and reduces

" the amount of muscle and
joint soreness.

Choose the correct option :

Codes :

(1) Both (A) & (R) are individually
true and (R) is the correct
explanation of (A).

(2)  Both (A) & (R) are individually
true but (R) is not the correct
explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted
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86.

87.

correct option from codes given
below :

List -1 List — II
(Stages) (Developmental
Milestones)
A. Infancy - 1. Gender
identification
B. Late childhood ii. Linguistics
C. Adolescence  iii. Well
integrated

into society

D. Early 1v. Growth spurt
adulthood ;

Codes:
A8 G B

(L)~ & FEig Pl

A2y = F Hsoie i

3} 1 n - M W

49 1 i W I

(5) Question not attempted

Recapitulatory theory of play was
proposed by.

ey
@)
3)
4
(5)

Which one of the
statements is correct ?
(1) Essential fat is the fat stored
in the adipose tissue.
Essential fat serves as an
energy substrate for
metabolism.

The essential type of fat is
found within tissues such as
muscles and nerve cells.
Essential fat acts as an
insulator to retain body heat.
Question not attempted

Lumley

Brand S. Mason

G. Stanley Hall
‘Herbert Spencer
Question not attempted

following
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4
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88.

89.

90.

91.

Which of the following are health
related fitness components ?

I. Body composition

II. Balance

ITII. Muscular strength -

IV. Coordination

Codes :

(1) Iand]II only

(2) 1I and III only

(3) II, IIT and IV only

(4) IandIII only

(5) Question not attempted

Who has defined play as : “Play is
the natural unfolding of germinal
leaves of childhood” ?

(1) Froebel

(2) Harold

(3) J.P. Thomas

(4) C.A. Bucher

(5) Question not attempted

According to young, three types of

audience are

(1) Information seeking, Scheduled,
Recreation seeking

(2) Conversional audience, Casual
audience, Information seeking

(3) Information seeking, Recreation
seeking, Conversional audience

(4) Self-centered, Hostile, Cordial

(5) Question not attempted

From which Olympics women

cpmpeted in every sports ?
(1) Antwerp Olympics (1920)
(2) London Olympics (2012)
(3) London Olympics (1908)
(4) Paris Olympics (1900)
(5) Question not attempted
51
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94.

95.

@)

Match the following lists :

List-1 List-1I
A. Social contact i. E. Thorndike &
theory S. Woodworth
B. Psycho-analytic ii. Plato
theory
C. Instinct theory iii.Sigmund
Freud
D. Transfer of iv. McDoughll
learning theory
Codes :
BB O
(29 b TRl T
ey HE 1 v
Br-s B I %
(4 i W W )
(5) Question not attempted

Which of the following has defined
wellness as “Wellness is an active
process through which people
become aware of, and make choices
towards, a more successful
existence” ? e
(1) W.H.O.
(2) William R. Corbin

(3) National Wellness Institute
(4) Karen A. Welk

(56) Question not attempted

What is the primary focus of a

humanistic philosophy in physical

education ?

(1) Winning and competition

(2) Development of the full
potential of each individual

(3) Standardized programs for all
students

(4)

(5)

Emphasis on team sports
Question not attempted

What are the two extensions of

axiology ?

(1) Ethics and metaphysics

(2) Ethics and aesthetics

(3) Aesthetics and epistemology

Ethics and logic

Question not attempted

®)




96.

97.

98.

99.

ﬁmﬁrﬁgaﬁ@aﬁqmﬁ%ﬁemw ; 96. Which of the following is not

(VAR) g Sfien 3 =i 8 ?
(1) HaiEwE s FoE

2) ﬁq—a/aﬁéﬁq—aaﬁ%ﬁﬁvh
3) gEu dien HrE o

(4) TieT / SIS e A& o o
(5) ITgaRa T

7 s Fw fm A R G, | g7,

I FEATT S 7
1) ==

(3) Afeyym
(5) TG FEH

“foreror <t forepol yomrefl” s 2 7

(1) feenfed & foag frg w am @
1 TS quTTe] |

(2) TNAHII I Tt i T e HE!

=, Heh T Yo |

(3) I 3 FEEs Wi + e
g s i |

(4) HI3eT hicd A ol Teb JUITEAT |-

(5) ARG A

fr=fafiea & o fom ffa § ifen

I W (VAR) S5a8T o Tehal & 7

(1) 0 Ted s A -z |

@) T faendt qun et FE sty
HAT? |

(3) UH M B T B WA wrl%m
RS 2 |

(4) <p1S TfereTa Terd aieh & fopan T
g1

(5) IAgaRd 9w

() fe=m
@ faerm

i
i
i
H
i
i
f
i
i
i
j
i
i
i
i

§
:
i

98.

99.

Video Assistant

reviewable by

Referee (VAR) ?

(1) Direct red card decisions

(2) Penalty / no penalty decisions
(3) Second yellow card decisions
(4) Goal/ no goal decisions

(5) Question not attempted

When ligament stretches beyond
its limit, it is called

(1) Sprain (2) Strain
(3) Fracture (4)
(5) Question not attempted

Laceration

What is the “diagonal system of

control” ? -

(1) A system for the players to
move down the pitch

(2) A system of how the goal-
keepers should defend the

goal
3) A common positioning
" strategy for referees and

assistant referees
(4) A system for calling fouls
(5) Question not attempted

In which of the following situations
can a Video Assistant Referee

(VAR) intervene ?

(1) A referee incorrectly awards a
throw-in.

(2) A player commits a second
yellow card offence.

(3) A goal is scored but there is a
possible offside.

(4) A substitution is
incorrectly.

(5) Question not attempted

made
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100. Frwerse feafd | g9 % R ° Fefafaa

101.

102.

51

TA P AT HYA TR ?

(1) U et =1 g9 FAimaEe f=afa
T ER % fore €fsa R s 20

2) HiwaEe w1 Fuior w=@ SwE |
el % et 3 yenai w REmw |
fpaT ST ® |

(3) U Raeret ATwase Rafa § 2 afe
R, wR I W W of faem
igaet & 9 o 4 2 3R |
- sife sfeeieelt sih e i 1 |
GSRIERICECIE R I

@ 3 =z et Tw-InRad
sicrgeigeft <h SR 2 il 9 HHaEs |
21 ; i

(5) TG T

¥ 2022 ¥ SeF & AR [EHR fHE
Sftar 2
1) forive B

(2) TericeamI UaTes!
@) U=t
@) wHwmasw %
(5) rgaRa I

ol Sl 3R & e west @

HeATehA TRl ST 2 7 _-

(1) wif, i, Suerar 3R AERfE 6
HEIh o

(2) e, Sge TR Sfdalhar am

(3) T, &SRR 3R ora

(4) RS, Sl ht gHar g

(5) ITFTNG S

100. Which of the following statements

is

true about in an offside

position ?

ey

@)

-3

! 101.

102.

4

®)

‘A player is always penalized

for being in an offside
position.

A player's hands and arms
are considered when
determining offside.

A player is in an offside
position if any part of the
head, body, or feet is in the
opponent’s half and closer to
the goal line than both the
ball and the second-last
opponent. :

A player is offside if they are
level with the second — last
opponent.

Question not attempted

Who has won the BALLON D’ OR
Award in the year 2022 ?

@

@
3)
@
6)

Lionel Messi
Christiano Ronaldo
Rodri :

‘Karim Benzema

Question not attempted

Which components are assessed in
the Phillips JCR test ?

@
2)
3
4
®)

Power, speed, agility and

muscular endurance
Flexibility, balance and
reaction time

Coordination, stamina and
reflexes

Endurance, lung capacity and
vision

Question not attempted



103.

104.

105.

=19 FARes 6 = Y 2 7

1) e &7 F Fofal § gew % fae
et Y fRfa
e 3k TR S TR
TR |
THARA W ATwass Rl
fRfa a1

e 3R wehe Ffea % o ifea
oSt i THta |

FAIANG 9

(2)
3
4

®)

wghs R s e fe
(3iéTem) R HATE ?

(1) TewE & vega a1 H @i 3R
faveivo S 2 |

Wl % SIUH e hl 7T I ¢ Kl
21 -
oot 373 i ) 1 PR T 2 |
R g R S
fovemo wtar 2 |

AN T

@)

©))
4)

®)

st sEterft i sty Fefaked
Tex St = - >

(1) 39 EA T 5 5-10%

(2)
(3)
4@
(5)

T WA THI HT 8-12%
Fel Wl T8I HT 10-15%
A T T9I H1 15-20%

ARG T

om0 0 s

32

103.

104.

105.

What is the role of a fourth
official ?

(1) Positioned on the goal line to
help with penalty area

decisions.

Monitors substitutions and
technical area.

@)

Controls offside decisions on
the touchline.

3

Review video footage for clear
and obvious errors.

(4

®)

Question not attempted

What does
Performance

(EPTS) do ?
1)

Electronic
System

an
Tracking

Records and analyses player’s
performance data.

Tracks ball movement during
the game.

2)

Assist referee with decision
making.

3)
(4) Records and analyses ‘goal
and ‘throw in’

Question not attempted

®)

The length of the temporary

dismissal should be between

(1) 5-10% of the total playing
time

(2) 8-12% of the total playing
time

(3) 10-15% of the total playing

time

15-20% of the total playing

time :

Question not attempted

(4)

®)
51




106.

107.

108.

51

(3

Fedadsadiaadi=eadie ?
(1) = Hiafem

(2) =g

(3) TR Fe

@ Fm i

(5) ITgaRa T

fafeiea & & fora feufa = soEe =g
+ft 1 T 2 Fifeh gTgAl & BIS ghe Wl
| | 3@ MU § A1 g M E, aﬁr%qa
% I AAE ?

(1) verfed s

) IfecaepvgRid feth=a

(3) wEEEfea Hifafthesa

(4) Tl 1 SR

SR T

TR : B% SRS § 8 InE
B2 | o

I : Y% 99 4 59 A H9 T
qigen wfaft &1 A e
& |

HYAIIL : HB1 A= AHaH <
Hﬁﬁ'ﬂﬂ?’lﬁ%q{@mgl

T fereheq o1 THTE HIRT -

(1) afidfHi s adid |

(2) Hea w1 ARG 2 |

(3) e HY Il IR III W2 |

(4) Haa s [ AR T2 |

(5) G I

33

i 106.

107.

108.

Which of the following is not a foot
injury ?

(1)
(2)
(3)
(4)
(5)

Planter Fasciitis

Heel Spurs

Morton’s Foot

Shin Splints

Question not attempted

Which of the following condition is
also called joint mice because small
pieces of bones that have been
dislodged or chipped from the joint
are floating within the joint
capsule ?

(1)
(2)
3
4)
(5)

Inflammed Bursae
Osteochondritis Dissecans
Myositis Ossificans
Patellar Fracture
Question not attempted

Three statements are given :
Statement I : There are 8 vice-
president in FIFA Council.

Statement II : A minimum of one
female representative must
be elected per confederation.

Statement III : FIFA president
may serve for not more than
two terms of office.

Choose the correct option :

(1) All three statements are
correct.

(2) Only statements I and III are
correct.

(3) Only statements II and III are
correct.

@ iny statements I and II are

correct.
(5) Question not attempted




109. AAHPER 3 WIiifte cgaan wlian vl | 109. When was AAHPER youth

R e Gt feman w2 physical fitness test first revised ?
(1) 1976 - 1) 1976

(2) 1965 ‘ 2 1965

3) 1972 (3) 1972

(4) 1980 4) 1980

(5) TG S (5) Question not attempted

110. Match the List-I with List-II and
find out the correct answer from

110. TEh — 1 1 g=h — 11 & 3 Fife oF 78

Wﬁﬂ%ﬁﬁﬁ?ﬂ%@gﬁq : the answer code given below :
List-I List-II
o - b memaR g
[ FEUEEEl  a. WE HE™ ! Governing
: - Body
II. S b. WEMAFESE | 1. FIFA b. Football in
i Continent
III. Hipe@A  c. T sl
= | L Confederation c. Footballin
IV. T gesie  d. fafarhiam ‘ws | Country
g U wEmdsH - IV.National - d. Composed of
o i Football four British
Association FAs and
o } FIFA
G- =N e 0 : Answer Codes :
4 I JE e a7 a .obia e d
@ 0 B : @ I sHE gt
: (2 =HE (11 BV -]
(B IV T HE-1 ]
(e dV 1EE: H-}

@y IV oIm 1

(5) ITITNG F¥H (5) Question not attempted
o 34 51

@) N B




111

112,

51

.W (R)

Feaie § @ i 91e & Ysud % Hed |

frferiiaa & & #1191 geias Usbam =i

T TS U HAT 8 ?

(1) ¥ 9l H & ygel Sifan BRI
1 YETH R I Hi
difer 39 1 & ¥ Ukl 51 Hb |

2) w@wﬁzwﬁ%@am

I T 1 T HET2 |

(3) zEH =@ % ufiomEl #i Wit w9
3R R A 9 @R T T S o |

SreienTieten Wi e 2 |-
4) |

Hdg! ! St s ° Geidd 24
(5) ARG 5 '
iﬂﬁiﬁ&ﬁ'(A) s

I J&F &9 ¥ IS AR G H |

i

i
i

IFAB Ui esitar g | 112.

(FAs) i Fa3fi, femrsii, Repetin |

aﬁiﬁaﬂtaﬁwa;w%%q

faftre i =1 st mﬁ |

angﬁém%l

: HeM 1 AR, ﬁa £l
aoH, faenfeai i @@ 3k
a@nzﬁa@fmﬁééasﬁmw
B R AR T @ B
SR O e H E |

Rrweq : '

1) @) 3R ®) I 77 2 A(R),
Q@) FEEEEEIR | o
(A) 3 (R) eFi 5 3, s (R),

(A) 1 TE T T 2 |
3) (A TR, e R) @2 |
4) (A) 9 2, Afpd (R) TAR |
(5) ARG WA

@)

35

3 It

111. Which of the following accurately

describes tertiary prevention in the

context of managing ankle injuries

in football ?

(1) It focuses on identifying risk

factors before an injury has

occurred to prevent it

entirely.

It aims to minimize the impact

of an injury immediately after

it happens.

involves long-term
strategies to limit the
consequences of an injury and
prevent re-injury.

(4) It deals primarily with

improving equipment and

playing surfaces.

Question not attempted

2

®)

Assertion (A) : The IFAB permits
National Football Associations
(FAs) to modify specific rules
for youth, veterans, people
with disabilities and
grassroots football.

Reason (R) : Modifications such
as field size, ball weight,
number of players, and
temporary dismissals help

- adapt the game to suit
different categories of
football.

Options :

(1) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

Both (A) and (R) are true, but
(R) is not the -correct
. explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

@




113.

114.

115.

116.

3)

= § ¥ N T gl gesia e &

leret Tl Sl TE AT § ?

(1) HhSHIS Ak f&hdt &2 (1951)

©2) fia-TwgHTes i TR (1963)
HifswEe

(1992)
S5 Besiel fhed ¢ (1992)

AN T

mﬁmw@a%maﬁh
R fem TR o ?

(1) dqoEE™ seH

(2) g aT

(3) R TS

(4) .. S

(5) IATTNG I

T IR Gesia Sfaainmal fea ad
g gs off ?

¢ 1916

(2) 1886

(3) 1830

(4) 1930

(5) IATANG I

feeeh ¥ yaie oY Torosh gR1 TS wY

iR 1 RIS HUFT a1 8 7

(1) i $ geata H HrEcElEw
o ; _

AR 1 18T B13TH gRT

heel STel TAT g

<faror uRETE Gesia SRieR Fwe

gl

AR I

“)
(5)

@)
3)
4

()

SAI (W8) e fpe e

; 113. Which of the following is not

-

36

114.

115.

116.

used for skill testing of a football
player ?

(1) McDonald Soccer Skill Test
(1951)

Mitchell-McDonald Soccer Test

(1963) Modified

SAI Football Skill Test (1992)
Johnson Football Fitness Test
(1992)

Question not attempted

(2)

3)
4

®)

Who has received the first Arjuna
Award in football game ?

(1) Tulsidas Balram
(2) Chunni Goswami
3)
4
6))

Peter Thangaraj
P.K. Banerjee
Question not attempted

2

When was the ‘Copa America
football tournament first contested ?

¢1). 1916
(2) 1886
(3) 1830
(4 1930
(5) Question not attempted

Who organizes Durand Cup’ in

New Delhi every year ?

(1) Governing body of football in

Asia
Indian Defence Services
Only Naval Forces

Governing body of football in
South Asia

Question not attempted

2
3
@

(5)
51




117.

118.

119.

51

Ugell 9K 99 1888 H TWWE Y Hal Gell
T T ?

(1) e

(2) TET

(3) femem

(@) foeett

®) vEARE T

Feaial Ui B o ?

1) FWTER

2) WY @
(3) .. Sl
(4) X PR

(5) HgARd T

%9 Th g RaaTret i e W fafenc
TR el Tehar & 3R 98 feM A-smt
SERM R R 2 o
(1) *aa oft 5a W F o B
figerd 1R w9 @ TR | |
) 3fg = Tt i smEm * %
% et B Rreeh for sfgdl = |
JareH! € T8 81 A1 AH | 9 O
feamna
(3) v« ot fgerdl =1 ot % 98 Bermn
ElIECE:Cos1 & |
4) &I H vzt ¥ & <5 faa ®
T F |
(5) I I

7Y W IPLEREY RLS NS RIS ISP R 0 Y5
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117. In 1888, where was Durand Cup
played for the first time ?

118.

119.

(D

2
3
4
®)

Calcutta
Goa
Shimla
Delhi

Question not attempted

Name the only football coach, who

received Dronacharya award.

(1)
)
&)
@
(5)

Sayeed Nayeemuddin
S.A. Rahim

P.K. Banerjee

Peter Thangaraj

Question not attempted

When can an injured player receive

on-field medical treatment and
stay on the field of play without
leaving ?

eY)

(2)

@)

4

®)

Only when the referee
believes the player is severely
injured.

If the injury occurs due to a
physical offence for which an
opponent is cautioned or sent

off.

Anytime the player feels they
can continue playing.

When the team is already
reduced to ten players.

Question not attempted




120.

121.

122.

el 39 YeIH H 91 Raenfedi %
fore 3l R ) fhe ad e 6
A off ? '
(1) a§1957H
2) =¥1963%
(3) T¥19614H
(4) =d19549

(5) oI SR

Foaid § Biem HFRTAAR ?

(1) Foet sl ) i w0 3 fore
1 7T HRIT |

(2) Th T <1 TTeAd Hiel STl |

(3) T Reemel et 8 ST e

33T |

4)
2

(5) NG FH

et fRurfer et weem 1 v Iy wae
T 3R form et 2, 59d ol ST et &
(1) et femmie =

(2) BRI forme =t

(3) hIvgHRE

(4) SETE-SeE U

(5) AR ST

E

pe——

L ToR AR g v A

YN S WURYANE D WSS AR RIS RS T (RS L pnt M L aad) T NS RS
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120. In which year the Arjuna Award

121.

122,

was instituted for outstanding

performers in games ?
1)
(2)
3
4)
(5)

In the year 1957
In the year 1963
In the year 1961
In the year 1954

Question not attempted

What does
football ?

@

‘feinting’ mean in
An action meant to confuse an
opponent
A referee
whistle

2) giving a fake

(3) A player pretending to be
injured
A

intentionally

(4) delaying play

team

®)

Question not attempted

A condition in which softening and

wearing out of the posterior

cartilage surface of patella is also

known as
(D
2)
(3)
4
(5)

Collateral Ligament Injury
Cruciate Ligament Injury
Chondromalacia

Osgood — Schatter’s disease

Question not attempted

51




123.

124.

125.

51

IS 9 % Fedl 8 fou 9H aret

T5-Fp % T WS A8 % Raenfed |

bl IS 1 A =R 2
(1)
9.15W. highwE |
Tl fotiefl Reersh i @ 12 71 I
P |

T+ foief Reem @t fgm o w5
flEgwaHhd 2 |
ﬁﬂaﬁf@mﬁq—a%ﬁm@%
@ |

IFIRE S

Faicl § ©el o [HIHI Sl AR i % foig
I &t et weer fieR 2 7

(1) ﬁrsi‘m éz@ma g Peaid
THITHERH (F%T)

ST SAIeAfeh T (LA
R Peaia Eeﬁﬁ'mm Eﬁé
(FSTHTSh)
WWWWW(W)
 FigaRa A

form Ty <61 wHifiuee peaier 1 vt
&1 &l “CONCACAF” % 9m & 91
ST ?

(1) T 3

(2) oo e

(3) uRmn

@

(5) 3G ¥

@)

(3

4)

®)

@)
3

4)
®)

wﬁﬁzﬁf@a@ﬁaamam?

| 123. What should be the position of

1

:
i
i
§

A g Y T T BB VOB YL

VRS PRI TR AR PR W IS A WSS RS b 4 (A

125.

. Which

defending team members at the
time of taking free kick by the
attackers ?

(-1) All opponents must be at least
9.15 m. from the ball.

(2) All opponents should position

12 yards from the ball.

stand

(3) All opponents

‘anywhere in the ground.

may
(4) Opponents will stand away
from the penalty area. -

®)

Question not attempted

governing body is
responsible for administering the

 laws of the game in football ?

Federation Internationale de
Football Association (FIFA)
International Olympic
Committee (I0C)

The International Football
Association Board (IFAB)
Union of European Football
Associations (UEFA)
Question not attempted

@)
(2)
3
4
()

Which continent’s governing bodjr
of association football is known as
“CONCACAF” ?

(1)
2
(3
@)
(5)

North America
South America
Asia |
Europe

Question not attempted




126. TSEIH & 397 [EHR IH a1 98t

126. Who was the first Indian footballer

WW@:{ g ? i ga;::fﬁ:; t?he Arjuna Award from
S ; : (1) Magan Singh Rajvi

@ A& ; (2) P.K. Banerjee

(91 e EE ! (3)  Yusuf Khan

(4) STEET e : (4) Baichung Bhutia
(5) FIANd T (5) Question not attempted

127. 4 a1 3w RraTd ¥RS % T 2025 | 127. Which country will host the 2025
FIFA club world cup with an

FIwT Fete forve sy Y A1 ST ? *
: . ; expanded format ?
(1) 3 e SR . () United States
(2) Ul I . (2) Saudi Arabia
(8) A ! (3) Qatar
(4) == (4) China
(5) a@ﬁﬁa g9 ; (5) Question not attempted
128. TalN 2rhl &1 9 fha e F 9| T | 128. The Santosh Trophy is named after
! which personality ? .
TITRE ? , |
u (1) Sir Manmatha Nath Roy
(1) W HHY Y T gl . Choudhary
(2) EdlY FAR :-" ‘ (2) Santosh Kumar
(3) WERn Ha fig - ( (3) Maharaja Santosh Singh
(4) TN 9 : (4 Sir Rajendra Prasad
(5) A W | (5) Question not attempted
129. sfi A FILI MR 7 ' 129. What is the purpose of the halfway
- 9
(1) Ued & 6 ypomd H FafkaF | e .
: =, ! (1) To mark the start of the
% ferg : i
- i penalty area. '
(2) a CIATEH < HeA feigai i ’ (2) To join the midpoints of the
¥ forw | two touchlines.
(3) Tirer & i il o & form ; (3) To divide the goal area.
: 5 (4) To separate the penalty
(4) YS! Sl DI IS HH & [T g
(5) oFgaRd A i (5) Question not attempted




130.

131.

132.

133.

51

Fealdd § AfTsh M (concussion)
ST T =1 W1 ieh ShRor 1 2 ?

(1) %wuftmﬁgu _ ,
2) T & et HfETsh 1 R
(3) TR W ®e
(4) =aH EH

(5) TN S

e fovm w9 2026 ° forat H wm

ot ?
(1) 32
(3) 48

(5) ARG IH

af 2023-24 F TITETHTE FEAE T
ReerSt =1 grepR fopa Sfiar 7

1) Fhash

(2) TSl e |y

(3) fcTaTS3Tet <

(@) vt

(5) IITARG S

3 sAfueTiEl, w3 afeenfia
Raenfeai & fow Fide 921 & &3 =i
(1) defieht &=

(2) UMY &3

@) vemER &

(4) i &

(5) ST SR

2) 40
4) 64

i
i
i
1
i
H
i
H
i
i
i
I
f
{
L]
H
i
i
i
i
H
i
i
H
i
i
H
i

U S S

i Anre s e s U S RS SRS IS PN T TSNS TSRS NS TR RS2 LB PR TR

130.

131.

132.

133.

41

What is the primary cause of a
concussion in football ?

(1) A direct blow to the head

(2) Acceleration of the
inside the skull

A cut on the scalp

brain

(€))
(€Y
6))

Lioss of consciousness

Question not attempted

How many teams will participaté
in the FIFA World Cup 2026 ?

(313 g - (2) 40
(3) 48 (4) 64
(5) Question not attempted

Who won the AIFF men’s best

player award of the year in
2023-24 ?

(1) Sunil Chhetri

(2) Gurpreet Singh Sandhu

(3) Lallianzuala Chhangte

(4) Manvir Singh

®)

Question not attempted

A designated sitting area for team
officials,
substituted players is called

(1)
2
3
4
®)

substitutes and
The technical area

The substitute area

The administrative area

The official area

Question not attempted




134. dien e aiftifeus fagmed s9 A FA &A1 | 134. Upright Commercial Advertising
. : must be at least

(1) TaeEEd 1Hag

(1) 1 metre from the touchlines

2) 2 metre from the touchlines
(2) TTAEEE 2 HAFT @
(3) 3 metre from the touchlines
(3) <T@EHH 3 ALY )
(4) 4 metre from the touchlines

@) TEEEd 4T
(6) TR S

’ (5) Question not attempted

135. A = = wHi-Hft gerehl R ﬁ?ﬂz 135. Which injury is sometimes called

mild head injury ?

(1) ufeass smEm | (1) Concussion

(2) ITET e (2) Impact fracture

(3) Teures Aty (3) Depressed fracture

4) U (4) Spasm

(5) IR I (5) Question not attempted

136. &9 T1 1R 1Ry 6l v fawerdr 2 | 1836. Which fracture is a failure of bone

in which a bone fragment is pulled

S O A ST SRS

B S LSl e S0k ! away from its main body by soft
TS g S gRI gL & fern S @ 2 , tissue that is attached to it ?

(1) 3mara ey E (1) Impact fracture

@) T e &) Pathological frncikure

(3) I feess arfenmr | (3) . Green stick fracture

4) -amma Frferm k (4) Avulsion fracture

(5) HIANA I : (5) Question not attempted

n] 42 51




137 ﬁm?ﬂﬁ?«mﬁﬁm

138.

139.

-1 g1
(hies Tian) ()
L SR () 9.15HkeL.
I etk G) 1 -
III. SAMaR (i) 5.5 He -
EIRERL]
IV. e T (iv) 16.5 X
HEl ST GMT :
F!odbo dH BV
D Gv) @ G) (i)
2 @ G Gv) @
(3 G Gv) @@ ()
(4) Gi) G) @ (@Gv)
(5) I SR
(IR ORI
YT : N F FHEEIR & Ed BRI
ST 7 1 gl 2.44 Hex B 2 |
FYAII : W= TGl § 91 1 o9 15
aaut%-—llargﬁga(soo-
1100 g/cmz)%wamm%q |
g fashea 94
(1) FaAFHAITER |
(2) QHIFAAEIRE |
(3) THIFHATEAR |
(4) S HH IR R |
(5) ITFARA T
mﬂ%wmmzomﬁﬁw:ﬁ
I HAT ?
(1) ISif=n
2) eI
(3) @A
4) wE
(5) 3FFTIRA T

S1

R S L T v

43

137.

(Field area)

&

IE
III.

IV.

138.

139.

Match the following :
List-I List-I1
(Measurement)
Corner Arc (1)
Penalty area (i1) 1 metre
Radius of the (iil) 5.5 metres
centre circle
Goalarea = (iv) 16.5 metres
Choose the correct answer :

E B -EN. B
v) @ @) Gi)

(i) (i) @v) @

() Gav) @ @)
@) @ @@ @)

Question not attempted

9.15 metres

(1)
2)
3
@
(5)

Two statements are given:

Statement I : The height between
the lower edge of the goal’s
crossbar to the ground is 2.44

: metre.

Statement II : Tournament balls
must be of a pressure between
0.6 — 1.1 atmosphere (600 —
1100 g/cm?) at sea level.

Choose the correct option :

(1) Only statement I is correct.

(2) Both the statements are
correct.

(3) Both the
incorrect.

(4) Only statement II is correct.

(5) Question not attempted

Who will host the FIFA Women's

World Cup 2027 ?

(D

(2)

3)

4)

(5)

statements are

Argentina

England

Brazil

France

Question not 'attempted




140.

141.

142.

s twaTES faermst & e H, fr 34
FFE RIS ?

(1) € e Has |

@) e & wry wwey A mﬁa‘aﬁm
2
ﬁa%ﬁ%ﬁmﬁaﬁmm‘%l
S TE IR R S A da e |

AN TH
FIfmeE (A) -

3)
(4)
®)

CRISEICIRE LR RIS G|

RO (R) : IFAB & 12&%
™ 2 1%5 afg W R-THEER |
%gamm%af%ﬂﬁram%m
2, a1 Raendt &1 haa Jaet &
AT 8, STeL & Wl a1 2 |

HE] foehed 9

1) () 3R R) i &4 g 3K (R),
A)FTETEHFTR | -

(&) 3R ®) o 7 &, ﬁ?ﬂ(R)

(A) F1 98 TEIHT TG 2 | ©

(A) ¥ 7, Al (R) 3EA 2 |

(A) 35 B, Wfh (R) 9 2 |

HARd a2

W bl esict 6 o7 S H A €,
S fova i qudl wew gm‘? e
wfernfrar o s 2 2

(1) oo s H

(2) = g

(3) ufre IftEafim

(4) 1896 % NI @il i peaict
e

FAIANA T

@)
3

4
®)

®)

Tt & F i - |
THERR Zeaidt hieh Yl &9 i |
ﬁawwméﬁaﬁa@

i 140. Which of the following is not true

!
i
i
!
i
i
i
i
1
]
i
§
i
i
!
i
l
i
5
i
i
£
i
i
i
i
H

A3 W YL LML TSI YSLASS 80 TR IPY TS Y T e TS Ayt TS AP NS AT Wiy

ISR WD VAR SR YL PSS TP RS 4RO AR TSRO TP 0

142,

)
141.

for a football player with reference

to his offside position in the field of

play ?

(1) Interfering with play

(2) Interfering with an opponent

(3) Receiving the ball directly
from a goal kick

(4) He 1is standing

opponent’s half.

Question not attempted

in the

Assertion (A) : A player who
denies the opposing team a goal-
scoring opportunity by a non-
deliberate handball inside the
penalty area is not sent off.

Reason (R) : The IFAB Law 12
states that if the referee awards
a penalty kick for a non-
deliberate handball offence, the
player is only cautioned, not
sent off.

Choose the correct option :

(1) - Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true, but

(R) 1is mnot the correct

explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question not attempted

@)

3
4
(5)

Which Indian tournament of
football is. the second oldest
football tournament in the world ?

(€Y
@
3
4

Durand cup for football
Santosh trophy
Asian championship

1896 Olympic games football
competition

®)

Question not attempted
51




143.

144.

145.

51

®)

AERERO I8
%Yq I

Fa St FAf A 2 |
% 11
w9 faeel, wEm= @ dy
Al =t sTa St ez s |
(1) SeasaIadz2 |
(2) SaAHIA T2 |
(3) THIHTHATHE |
(4) T HHATEAE |

IR 9

e g Fuffa et b
yfeifiar & sAftreray feraa Raenfeai =
IFY= 8 ghal g ?

(1) = EYA

(2) I dH TEEA

(3) TR FAEA

(4) ETd TIEES

(5) IHING ¥

T e B % 1¢ el §H: TR 8H W
3R B i I var 9t T foh @ fem
4 U Afics Rearet disg o, ?rq'i‘q?ﬁ
<1 1 e BT ?

(1) H& U TR |

2) aqﬁlﬁ—rﬁﬁaa@aﬁm%mmam
(3) W oM it 31«1 3 forek (S sft
3fd ®) & @t : I AT |
3 9+l STl 1 3YHET 1R |
NG T

(4)
®)

: difen o sy I
fifed Tere Wa % W@ §) 9 |
SHI % reTer Rl 3= I gE

: difedl ATRIA w9 § Y99 |

f

143.

144.

145.

&)

Two statements are given :
Statement I : Video operation
room is where video assistant
referee and assistant video
assistant referee work. Other
than these two no one is
allowed to enter in it.
Statement II : A player, substitute
or team official, who enter in
the video operation room will
be sent off. :
Choose the correct option :
(1) Only statement I is correct.
(2) Only statement II is correct.
(3) Both the statements are
correct.
Both the
incorrect.
Question not attempted

statements

)

are

®)

How many substitutions
(maximum) can be used in- an
official competition determined by
FIFA ?

@
@)
3
4
)

Five substitution

Only three substitution
Four substitution
Seven substitution
Question not attempted

If the play has restarted, the
referee realizes an extra person
was on the field of play when the
goal was scored; the referee
decision should be

(1) Stop play

(2) Have the extra person removed
Restart with a dropped ball or
free kick as appropriate

All of these options should be
followed

Question not attempted

4
®)




146.

147.

=€) aaiﬁaﬁmmqwﬁaaﬁmm

Tormr ultfeafeat 3 1 7Tt =l T8 o bl
2 afe i fohe M % @ ACH W FRE
safafces =3 Hieg o1 ? _
1) aﬁmﬁhﬁwﬁﬁmzﬁnwm
o7 o Tivet weteme e e |
2)
e @ ¥ gwagy 72 T |
afe sfafes =afe =ifm du =
H5 9 et o1 oem €& §
T8 forar |
Ife sAfafces =afe aAfim ofe 3 a1
I3 331 91 |
FRd 9

3

@

(5)

3 9 o TR R e
el 8 1 arsreE 3 fobep € e 827

Y o1t fopeh a1 2 |
@)
¥he 4 IfH T 9 Tl @
b sw g |
T TR vt s § 3 R
T A TaE | ~
e TICTHIR et e 3 &g 9
arefi B e wTH FAT R |
FTRd T3

3

(4)

®)

i s s i et o |

e Mt e ! Bied & 956l 98 |

i
i

46

146. In what circumstances may a

147.

®)

referee nullify a goal if an
additional individual was present
on the field at the time it was
scored ?

(1) If the extra person was a
player from the team that

conceded the goal.

If the extra person was an
outside agent who did not
interfere with play.

@)

(3) If the extra person was a
team official of the scoring
" team who interfered with
play.

If the extra person was a
spectator sitting in the front
rOW.

C))

®)

Question not attempted

What are the circumstances under
which an indirect free kick is
awarded within a goalkeeper’s
penalty area ?

(1) When the goalkeeper kicks
the ball out of bounds
intentionally.

(2) When the goalkeeper controls
"~ the ball with the hands for
more than six seconds before

releasing it.

(3) When the goalkeeper saves a
shot and then picks it up

again.

“

When the goalkeeper receives
the ball from a teammate
after a goal kick.

Question not attempted

51




148.

149.

150.

2024/25 93 % forg 3m9ee fhu u [FAB
e it 3 s, Freffad 4 8 99 |
HIFUT TR ?

(1) aaVARangmicsﬂaﬁrﬁ%ﬁm
i e B g A EEA AL
Ug <l SATEYThdl T8l § |
SR 3 o s
e e it AR # |
e % 1 3% wier i o
ST S A S |

FARA 99

)
3
4

(5)

frafafen 3 @ fafie it =1 @
TAHE HITHR S ?

(1) =

(2) Tlh3ATIE TAHZ

3) e =

(4) T3vE VT it

(5) FIgaRa =

f=fefiea 5 € @4 a1 SAI Besia wive
Tt i o el § e T8 R 7 —

(1) e Ty 30 detde

Tefeem
Terferm wdteman

)
3
4
()

Hag fe@mn
IR T

R S —

T8 700 ) Y B340 ) Vb T 4 4R AR A 8RR T B ARSI T 00

B

o A s Vi b
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148 According to the updated IFAB

149.

150.

Laws of the Game for the 2024/25
season, which of the following
statements is accurate ?

(1) A pgoal ecan now he
communicated directly by the
VAR team without referee

confirmation.

(2) Captains are no longer
required to wear an
identifying armband.

(3) Additional permanent

concussion substitutions are
now allowed in competitions.

(4)

Track bottoms for goalkeepers.
are now considered
compulsory equipment.

®)

Question not attempted

Which type of tournament is
pyramid tournament out of the
following ?

) -
@)
3)
(4)
®)

Léague Tournament
Knock-out Tournament
Challenge Tournament
Round Robin Tournament

Question not attempted

Which of the following is not
included in the test battery of the
SAI football skill test ?

ey

30-metre running with the
- ball

Dribbling
Kicking accuracy

2)
3
“)
®)

Juggling

Question not attempted
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